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CHEMISTRY 
Maximum : 60 Scores 

Genera/Instructions to Candidates : 

Time : 2 Hours 
Cool off time : 15 Minutes 

• There is a 'cool off time' of 15 minutes in addition to the writing time of 
2 hrs. 

• You are not allowed to write your answers nor to discuss anything with others 
during the 'cool off time'. 

• Use the 'cool off time' to get familiar with questions and to plan your answers. 
• Read questions carefully before answering. 
• All questions are compulsory and only internal choice is allowed. 
• When you select a question, all the sub-questions must be answered from the 

same question itself. 
• Calculations, figures and graphs should be shown in the answer sheet itself. 
• Malayalam version of the questions is also provided. 
• Give equations wherever necessary. 
• Electronic devices except non programmable calculators are not allowed in the 

Examination Hall. 
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1. a) NaCI has fcc structure. 
Calculate the number of NaCI 
units in a unit cell of NaCI. (2) 

b) Calculate the density of NaCI, if 
edge length of NaCI unit cell is 
564 pm. [Molar mass of 
NaCI = 58.5 g/mol]. (2) 

2. Elevation of boiling point is a 
colligative property. 

i) What are colligative properties ? 
(1) 

ii) Elevation of boiling point ( L\ Tb) 
is directly proportional' to 
molality (m) of solution. 

Thus il Tb = Kbm, Kb is called 
the molal elevation constant. 

From the above relation derive 

an expression to obtain molar 
mass of the solute. (1%) 

iii) The boiling point of benzene is 
353.23 K. When 1 .80 g of a 
non volatile solute was 
dissolved in 90 g of benzene, 
the boiling point is raised to 
354.11 K. Calculate the molar 
mass of the solute .Kb for 
benzene is 2.53 K kg mol-1. 

(1%) 
3. With decrease in concentration of 

an electrolytic solution, 
conductivity (K) decreases and 
molar conductivity (Am) increases. 
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i) Write the equation showing the 
relationship between 
conductivity and molar 
conductivity. (1) 

111111111111111111111111111111 

1. a) NaCI m fcc (:.eJsmCQJ::>6m6~®. ~ 
63ffi6 NaCI CQ)J6m1Ru @rru@e.J6~ 
NaCI CQ)J6m1f16c6:>§66)S O{D~o 
cfu6fficB~::>cB6J6cfu. (2) 

b) NaCI CQJJ6Ti5lp 6)ffi)~6)cVs ru~16)cVs 
cDl§o 564 pm @'@6)6mEfulam NaCI ~ 
rru::>Lm® c6:>6TYS6o.Jl51~6ce:,· [NaCI 
~ <Wl::>gpfO m::>m) = 58.5 g/mol]. 

(2) 
2. o.m e.n (8 OJ n.'l1 em 63 ::> n.O" (8 6QJ ::> mfl e.n 0 Cf)u 

<&o.J::>CQJ~ 63ffi6 @cfu::>gl<&Cf)RJol <&lo.JO~fO§l 
.@'@sm. 

i) 6)ce:,ogl<&Cf)Rio1 <&Lo.J::>~ro§lca,cfO 
o.mrmoam o.m(l15) ? (1) 

ii) o.ffieSl<&OJn.'!lem 63:-:>n.O" <&6ru::xw1eJlo(f)" 
(go.J:)CQ)~ ( Ll Tb) 63(()6 e.JOCQJffilCQJ66)S 
6) m::>§_::>eJ1 R1 CQJ6ill::>mf1 (m) <&mfO 
ffi'mffi6 o.J::>cmcorn51 am @'@co5l m1 ~6 0. 

((j@CQJ®lm::>am, L\ Tb = Kbm. 'Kb' 6)CQ) 
(8 m 0 § 0 am o.m e.ll (8 OJ n.'l1 em (8 cfu ::>mo 
~~o.mnn oJ1@~6rm6. 
ill6cfu@af0 o.Jo6'l1m551m1~6rm 6ruffiD 
corn51 afO ffil nn el'l mmo516lcVs <&m::>§_::>fO 
morru" cfu611'56n.Jls1~6rmcm1m6~ 
63 ffi6 ffi)Jl®OJOcfujo ffiJoJlcfuc61~6cfu. 

(1%) 
iii) 6ruemm>lm16lcVs ®l§ffile.J 353.23 K 

((j@sm. 6ru::>~CJ8le.Ja5lgp0'® 1.8o g 
el'lmo 90 g 6ruemrruim1af0 e.JcWl~ 
-ed<&.tPciO ~~ Ml§mle.J 354.11 K 
((f@ Cl2f1 ~ CQJ fO rm 6 . e.Ji m 0'®16l cVs 
<&mO§_::>CO mom) cfu6TYS6oJls1~6cfu. 
6UJemrruim16)cVs Kb = 2.53 K kg 
mol-1. (1%) 

3. 63m6 ~e.J@L~06)6)e.JR e.JcWl..gJl~~ 
eJ 0 CQJffi] CQJ2, @S Cf)0C'U.9® cfu6 OCQJ2, rm 
cm1mm6rrum1..gd" cfu6TYScBg1o.flR1 (K) 
cfu6 o CQJ 6 cfuCQJ 6 o <& mogpfO cfu6TYScfg 1 o.f1 RJ 
(Am) cfu~S6cfuCQJ6o @..!2JC}ffilffi6. 

i) cfu6TYS~1o.l1f11CQJ6o, <&m::>§_ofO c6:>611'5cBJ 
o.n R1 CQ)6 o ®crm1 e.J6§§ 6ill <nD6l0'® 
rru4.Llll~ ~6 rm crumOJ::>cfu jo O{D':?J 
®6cfu. (1) 



ii) How will you account for the 
increase in molar conductivity 
with decrease in concentration ? 

(1 112) 
iii) Limiting molar conductivity 

(A~) of a strong electrolyte 

can be determined by graphical 
extrapolation method. Suggest 
a method for the determination 
of limiting molar conductivity of 
a weak electrolyte, taking acetic 
acid (CH3COOH) as example. 

(1112) 

4. a) Zero order reaction means that 
the rate of a reaction is 
independent of the 
concentration of reactants. 
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i) Write an example for a zero 
order reaction. (1) 

ii) Write· the integral rate 
expression for the zero order 

reaction, R -7 P. (1) 

b) The temperature dependence of 
the rate of a chemical reaction 
can be accurately explained by 
Arrhenius equation. With the 
help of Arrhenius equation 
calculate the rate constant for 
the first order reaction 

C2 H5 l(g) ~ C2H4(g) + Hl(g) at 
700 K. Energy of activation (Ea) 

for the reaction is 209 kJ mol-1 

and rate constant at 600 K is 

1.60 X 1 o-5 s-1 [Universal gas 

constant R =8.314J K-1mol-1] 
(2) 

ii) w o CU9 ® cBJ 6 o cw 6 nn ®1 m m 6 (]1) <il 
~§.§ CEQ)J~Jro cfu6nS&Js10J1R1m>66)S 
OJmBDmoJ O{J)6()B@m oJlcroB"lcBJm1 
c0060 ? (1 112) 

iii) 63(()6 czco~pow" @2eJ@l&Js:J6)6)eJR1@rfq 
eflQ)1R1ow (gQ):J§_offi cBJ6nS&Js1oJlR1 

(A~) lW:Jo..01cOO~ %)c6Jvl~ :J 
6)<LJ:JC8§_o31CDleJJ6)S c6J6n5~ o.JSlcOO:JoD 
c6J \91 cw 6 0 . 63 ffi 6 oJ'l cOO ~ eJ 6) l cBs J 
6) 6) eJ R16) r(q e.n Q)1 R1 o wu cg m ::> ~ ::> ro 
cBJ 6frS ~ 1 oil R1 cBJ 6frS _p nJl s1 c00 ~ 
nn ®ii ffiiD6)(]1)R1cBJ ((3'@m5lcw 
(CH3COOH) ~B:JoDffi6TDQ):Jm>1 
n(DS6wriD 63ffi6 m::>me&o m1WC8<3 
cro1c006cBJ. (1112) 

4. a) mJlczoo 63::>rocwro (():JCll)l<LJOJro(m5)mo 
O{J)mJ:J~ (():Jffi)l<LJOJW(m5)m(OY{l)l@r(q 
m1 (() c00" ffiiD B1 cBJ ::> m cBJ 61lB ~6 6) s 
w ::> CU9 ® 6) cw ffi'©@ cw1 c006 nn1 ~ 
O{DmJ:J6YT)' ®'OW ®Do. 
i ) cru"l (2 0 J 63 J m (ill ffi (() J (]1) l (L] OJ ffi 

(mj)ffi(m5)1m 63(()6 ~B:JoD(()omo 
O{D':l'6®6c6J. (1) 

ii) R-7 P o.mnn Cll)"]czo::> 63:Jmcwro 
(() :) (]1) l (L] OJ ro (m5) m (m5) 1 6) rfq 
~rfqlW~ czorJ O{D~Lo.JoS:loD 
O{D':l'6®6c6J. (1) 

b) 63 (() 6 (() J ffi) l (L] OJ ro (m5) m (m5)16) rfq 
. m1(()c006o, 22'Dot;pru6o ®rim1eJ6ffi 

6YlJCIWo ce)0®,)QJJCQ)1 l<LJ®1o.J881 
c006ruoon mmolm1CQ>m) ffi)illOJ::>cBJ~ 
(m5)1 mu cBJ ':91 CQ) 6 o . ®0 0"1 ml CW (]1) 
ffi)illOJ:Jcfu jnmDl@rfq ffi)oD8CWC8(m5)J6)S 

C2 H5 l(g) -7 C2H4 (g) + Hl(g) 
o.m nn o..0 ffi1 63offi cwro (():JCll) l o.J OJ ffi 
(m5)ffi(m5)1@rfq 700 K -~ ~~ czofJ 
(gcBJ:JsriO~® c6J6D56<LJ1Slc006cfu. ~'i) 
(() o (]1) l <LJ ru 0 (m5) m (m5)16) rrq ffi'@ &Js 1 
CEOJo.9::loD ~'DW~o (Ea) 209 kJ 
mol-1 ~ 600 K-~ ~~ czorJ 
(gcBJ:JsriO~cm 1 . 6o x 1 o- s-1 ~o 
ffi'@) 6m u. [ (j) j J Cll)v cruo1 (() J ffb 0 ' 

R =8.314J K-1mol-1] (2) 



5. a) The accumulation of molecular 

species at the surface rather 

than in the bulk of a solid or 

liquid is termed adsorption. 

i) What is adsorption 

isotherm? (1) 

ii) Write the mathematical 

expression of Freundlich 

adsorption isotherm. (1) 

b) Enzymes are known as 

biochemical catalysts. Write 

any two important 

characteristics of enzyme 

catalysis. (1) 

6. a) Match the items of Column I 

with items of Column II. 

3016 

Column I Column II 

i) Aluminium a) fylalachite 

ii) Iron b) Bauxite 

iii) Copper c) Limestone 

iv) Zinc d) Haematite 

e) Calamine (2) 

b) The reduction of the metal 

oxide is easier if the metal 

formed is in liquid state, at the 

temperature of reduction. Give 

reason. (1) 

5. a) 63ro6 6Llro nJB:::>ro(llli)®0)1~~~wo, 
((:300Jcfu(()"f())l~CQJO ~ffikme.~®Wlam, 
ffi'Y'061c& 6JOJ:::>®O)mom>1 ~~®1~m 
dffi:) cJ6 (15)\Q) 0 l (15):) o.eJ 5cfu615Bcf6 
c&6m1m6 c&~56<m®161mcwo6Tf5' 
®ClM~cruo ronJ o.91 00 o.m em6 nJ ow6 
em®. 

i) o.m mDo6lD ®ClM ~cruoronJ"oS:l 00 
61o.q)~cruo~®o ? (1) · 

i i) l o..0 srrs"e11_gJ ®ClM ~ cruoronJ" o.91 00 
6ln@~cruo~®m161~ mo®O)moR1 
c00am om~t nJ o.91 00 om 196 (15)6 cfu. 

(1) 

b) n@ 00 61 61 cru OJ6 c& cJ6 mJ ~ w o 61 c& m1 
dffiam c&oRen ~c&cf6 omcmo6m" 
®Cl o1 w 61 ~56 em®". n@ 00 61 61 cru o 
c& R o e.fkri3T cru161 ~ oro 6) ® a1:> 1 e.12, o 
ro 6Tl5u l nJ w 0 m l nJ ~ (l5) J cfu (l5) cfu cJ6 
n@l96®6cfu. (1) 

6. a) 63cmom61®0) <8c&0~@0)1Clf0 6Jc&JOS6 
n~~OJW6o ffi6Tl50Q)6)@0) ~cfuO~ 
®0)1~ 6)cfbOSJ,®0)1§2,~0JCQJJ,o 

® am1 ~ ~..!JJ ffi6 onJSl ~..a.J ffidffi6 c&. 

Column I Column II 

i) ®CleJ~m1m1wo a) a:JOeJ6161dffiR" 

ii) §2Co6mJ b) <8mJ06)6)~8 

iii) ~c&o~ro 

iv) m5lab' 

c) 616Je.to ~rnp6ff6 

d) 61nDOJ6161RR" 

e) c&eJoa:J100 (2): 

b) ffil~roo~c&ro6m §[O~o.Jlam <8e.too.oo 
lBOOJcfuOOJ ffiillmi1 ClfO (fj@ 6m" ~ 6Tl5 :::> 

c& 6 em 61 ® a1:> 1 ClfO ~ e.t o nD (l)®161 ~ 
ffil~roo~ cfuffi6mo cfu ~ s 6 ® ClfO o.m ~ 
~ Ql Ocfu6 Cffi6. cfu0ffi6mo nJOCQJ2,cfu. 

(1' 



7. a) Nitrogen forms number of 

oxides in the different 

oxidation states. Write the 

names and structural formulae 

of any four oxides of nitrogen.(2) 

b) Boiling point of H20 (373 K) is 

very much higher than that of 

H2S (213 K). Give reason. (1) 

c) Suggest a method for the 

quantitative estimation of 

ozone (03). (2) 

8. Account for the following trends in 

atomic and ionic radii of transition 

metals. 
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i) Ions of the same charge in a 

given series (3d, 4d or 5d) show 

progressive decrease in radii 

with increasing atomic number. (1) 

ii) The atomic radii of elements in 

4d series are more than that of 

corresponding elements in 3d 

series. (1) 

iii) The atomic radii of the 

corresponding elements in '4d' 

series and '5d' series are 

virtually the same. (2) 

-5-

7. a) 6161ffil5$;5CYO O..IJ®J<IUD 630~tcfuffi 

6ffiOOJ<ruDCQ)]~~ WOCOO§o 6306161~ 

MJ,cfucftl ~6'fYSOc&6!J,fffiJ,. 6161ffil5~6)(~ 

o.ffi 61 (15Hfu 1 eJJ, o m 0 e.( 63 0 61 61 ~ OJ) 6 
cfu§J,615 (go.JffiJ,o 0-2J5ffiWJ,o o.GY:PJ,®J,cfu. 

b) H20 WJ,61S ®1§ffileJ (373 K) 
H2S 6)~ ®1§m1e.t(gm>cOOoun 

(213 K) OJ§6)ffi cfu~56®e.Jo6ffi. 

(2) 

cfu:)ffi6ffio o.JOWJ,cB:J. (1) 

c) 63o(gcmo6ffi16)~ (03) mm§ol 

®1 §@c;tj 52,(010)6 (ffi@l ffiJ,~ 

c cfuj06'1"@1(g88iru O{j)m(gQ)df.lcm) 

63ffiJ, moffi<:&o m1&Cll~cro1cOOJ,c&. (2) 

8. cmo L cB:JQJ6ffi aJJe.l cB:J6\JB§l, 6)5 ®'O(g80aJlcB:J, 

®() Cll w o 6ffi1 <:£b (g o M1 w em 6 cfu m 6) 5 

<m o 6) e.g o.J ow 6 on L nJ ru 6ffi <m cfu un c00u 

oJlcroB"l<:fbro6mo mm1lc&6cB:J. 

i) 63(gffi ..2JOffi@@2J,~ 63ffiJ lo.J(g@JcB:J 
cm"lroicm1<lf36)o.J§ (3d, 4d or Sd) 
<m'()(gffi>O 6IDJ, cB:J§l, 615 (g0 ru))m;cm6 cB:J cftl 

C?Jm(g800J1c& cmo&lj cB:J456on®lmJ, 
cmrol~i ®J,5&~woCQ)] c&J,OWJ,fffi6. 

(1) 

ii) 4d cm"lroim51<lf3 @o.J§ m~eJcfu6\JB§7,615 

mm (g fp m1 <:£b (go M1 m> CWJ, cfucftl 3d 
cn)]ffilm51<lf3 6)o.J§ ®(O'(O)J,eJJ Q)J,eJcB:J6\JB 

~6)5 C?Jm(gfpmlca, (gO@m>cmJ,cfu 

(g§cfrG)Ocftl cB:J45J,®eJ06ffi. (1) 

iii) '4d' m5lffilm51(geJ<WJ,o '5d' cn)]ffilm5l 

(geJw6o <m(OIO)JeJJ m~eJcB:J6\ffim6)5 

~AJaSl<:fb (gOO.J.5lm>cmJ,cB:JcRl o.ffi®OEi'fB 

®J,eJjQJ06Tf). (2) 



9. The magnetic behaviour of a 

complex can be explained on the 

basis of Valence Bond (VB) theory. 

a) [Co(NH3 ) 6 p+ is a diamagnetic 

complex and [CoF 6]3- is a 

paramagnetic complex. 

Substantiate the above 

statement using VB theory. (3) 

b) Classify the above mentioned 

complexes into inner· orbital 

and outer orbital complexes. (1) 

10. a) For the preparation of alkyl 

chlorides from alcohols, 

thionyl chloride (SOC12) is 
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preferred. Give reason. (1) 

b) Halo alkanes undergo 

~-elimination reaction in 

presence of alcoholic 

potassium hydroxide. 

i) Which is the major product 

obtained by the ~-elimination 

of 2-bromo pentane. (%) 

ii) Name the rule, which leads 

to the product in the above 

elimination reaction. (1) 

c) Write the chemical equation 

for the preparation of toluene 

by Wurtz-Fittig reaction. (1 %) 

9. <8<-fuOOg.d~Gfu~@S cEh00ID1em ffi)j@OOJ 
6?5Y3 cJD OJ 0 eJ em ffi)u (g 6QJ 0 6rr:r ®1 CQ) o1 
CQJJ, 6) s (ffi() s1 ffilO o m(0)'0)1~ oJl CfM3i <B:>ro1 
d%)00JJ, ffi)®06TDU, 

a) [Co(NH3 )6 )3+ 63ffi6 (U)CQ)omoun 

rjlc.fu <B&.>Oog.J~o, [CoF 6]3- 63ffi6 

n.JO (() 0 Q) 0 un p1 emu C&cEhO ogJ q;la6 0 

ffi@)61TI. OJOe.Jcffim) C86QJ06"f@ ®JCQ)c5) 

CQ) 6 6) s (ffi() s1 ffiill o m com10'0 gQ ro . 
Lo.JC'Q?OOJm mx>WJMc006cEh. (3) 

b) !1\J,emglm6 o.J061\YTID1§6~ CZemOog.d 
~em@§ g:Qcmffi 63offimflp0'0, 63'D§ffi 
63 o ffi mJl R m6 %) cm"l Cl.ll @ o en 6m3 

gle.JocWl ®ffio ®1ro1c006cEh. (1) 

10. a) ffi@)~cOOC&nD0§_6<fu§10'0 m!cmu 
ffi@)~6)6)d%)~ C8~06)6)0(U)6 ce:,cJO 
m1 ffi am1 cOO 6 ffi) COl 1 mu COl CQ) 6TD10'0 

cz~@OOM ( SOCI2) ffi'@61TI cfuJS6~ 
(ffi()@!cfuJQJjo. cfuOffi6TDo o.JOCQJJ,cEh. (1) 

b) nDJe&e.JJ ~m6CZcOOCQJ1m6cEhcJ0, 
ffi@) 0'0<:00 (gn.DJ~ cEb 6)n.JJ§O® j 0 
6) 6) nn cz L (ill o 6) 6) ~ (U)1@ ~ au o cm1 
BDj(OY0)1am ml'lRO %)e.ilfll1<Bmo91em 
(()Jffi) l o.J OJ CD(OYO)ffi6m3 cJDd76) oJl <BWCQ) 
QJOcEh60. 

i) .2-CZl61l.JOCZfllJ @o.JCZ~CQJ1@m 
ml'lRo %)e.J1m1czmo91m oJle&WCQJ 

!1\Jd76>1CQJJ~ e.J@lc006rrn Ln.JWom 
~cmo Offi® ? (Y2) 

i i) !1\J, cEh §1@ eJ %) ell m1 (g m o91 em 
l n.J OJ ffi (OYO) m (0)'0)10'0 ~g:j cm(l}'('[)1 

cze.Jc:OO' mcWl~® Offi®J m1CQJm 

Q)J(gffi)O ®00551~ <Bo.JrO o.JOCQ)J,cEh. ( 1 ) 

c) o_gffi§m.)-o..018Ju5 ffiO®lo.JOJCD(I)'('[)mo 
~ o.J (g CQ) 0 (1)1 ~u 6) s 0 §6 rui em 
m1 ffi am1 <:006 cm®1@ ~ (()O cruauQJ 
OJOcEhjo %)y:>J®J,cEh. (1 %) 



11. a) Write the IUPAC names of all 
the possible isomers with 
molecular formula C3H80 

(1%) 
b) Phenol is usually 

manufactured from cumene. 
Write the structure of cumene. 

(%) 
c) Primary, secondary and 

tertiary alcohols can be 
distinguished by Lucas test. 

i) What is Lucas reagent ? (%) 

ii) Write the observations, for 
primary, secondary and 
tertiary alcohols in Lucas 
test. (1 %) 

12. a) Suggest a method of preparation 
of benzaldehyde from toluene.(1) 

b) Aldehydes and ketones differ in 
their chemical reactions. How 
do they react with the following ? 

i) Tollens' reagent 

ii) Alcohol. (2) 

c) How will you convert 
propanoic acid into the 
following compounds ? 

i) Ethane 

ii) Butane. (2) 

· 13. a) Amines are basic in nature. 
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Arrange the following 
compounds in the increasing 
order of their basic strength. 
NH3 , C6 H5 NH2 , CH3 - NH2, 

(CH3)2NH, (CH3)3N. (1) 

b) How will you convert aniline 
(C6H5NH2) to chlorobenzene? (2) 

·7· 

11. a) C3H80 Cl(J)rm ®\QJ::>L®::> OJOGfuj 
ffi6~ fruOBD jQ)O(Q) Cl(J)~O @o.fj)<WUO 
Q)06Gfu~ GSW60 I up AC (goJ(()6GfucJ0 
nm~6®6Gfu. <1 %) 

b) ffi):) W0(()6ffi(Q)0 CQ)) OJ, ~OOJ ffi):)CQ)) Gfu 
((ffi)S1ffiillom®mlf60 o..OIGm:xJO m1 ffi 
o:m1~J/1Tl®v Gfu6mim1am mkmo6TD. 
Gfu6micr5l@~ o.e.Jsm o.fD~6®6Gfu. (%) 

C) @@LnJmo1, 6)ffi)c:S{))<mo1, GSffioS1~01 
((i@)afnc:S{)) Gn.DO~ Gfu@§ e.lJ c:S{))Offi) 
@S~ ~oJGm>O(f)lgJ Mlro'l4Jo1m>oo. 

i) o.fj)CYIJ)06TD ~c:S{))om.) d1 o.ffis:r6~? 
(%) 

ii) @6)loJQ)Ol@m>c:S{))<m01, GSffic)9:ljOl 
(tj@) f60 &;6) cg n.D :) § 6 Gfu ~ 6 6) s ' 
eJ~c:S{))offi) ... 6)sm6)eJ cr5lro"fdh9:16TD 
n.DeJ6WcfO o.(j)~6®6Gfu. (1 %) 

12. a) @So~oJlcrSlfdO crSlrm" 6UJcffiffi)oafn<W1 
6)6)n.Dn.D rr5l&a:m1c:S{))6rm®lm6~ 
~ro6 moffie&o ffilffiG<3CJ61~6Gfu. (1) 

b) ffi'@fd0ru516)6)o.0CW6Gfu~o <fh1GR06TD6 
t:&.>~o ®?JOJal>66)S ro::>cruLoJOJCOM'O) 
m6llB@lf60 OJj®J)ffi)6)~§lc61c006on6. 
((5) 0 6) ~ ® rm1 (()J c£706 on OJ m> 6 Q) 0 cnn 
®OOJ ntj)6llB@m LCLJO.Jffi<m5Jceti)2fffi6 ? 
i) GSO ~ffi>('fl) Ol Ciffis:r6~ 
i i) ('(j@)afncet))Go.OOcfO ( 2) 

c) 6)L oJ O'J:I Gmoco5l c£b C'1r©m5l cu5J6)m 
®o 6) ':P em (11")1 ro1 c002/m m>om>6 c&® 
6ll'B§_Ocilll Q)0ffiffi)6)@6W6)ffi ? 
i) g;QGcmcilllrro 
ii) 6UJ~G§cilllffi> (2) 

13. a) ®Omim6c:fucf0 G6UJm5lc£b cruJcsOOJQl6 
~rum>o6TD"'. ®06)~ cmon1§6~ 

ffi)O(Q)6~ ®?l0Jal>66)5<&6Yllm51&h 
6)L ~ o c.r) @16) <m t1f© G rooo.06ID L c:e,m 
M15Sl am L c:e,mi c:e,c61 &;6)6c:fu. 

NH3 , C6 H5 NH2 , CH3 - NH2, 

(CH3)2NH, (CH3)3N. (1) 

b) ®?Jcrllefl6)m (C6H5NH2) G~o<2oo 
6UJcffim))ffi> tlf©c006ffi)6)@61f136)ffi? (2) 



14. a) Amino acids can be classified 
into essential amino acids and 
non essential amino acids. 

i) What is the basis of such 
classification ? (1) 

ii) Write one example each for 
essential and non essential 
amino acids. (1) 

b) Write any two differences 
between DNA and RNA. (1) 

15. a) Synthetic rubber is a · 
Vulcanisable rubber like 
polymer 

i) Write one example for 
synthetic rubber. (%} 

ii) Write the method of 
preparation of the above 
synthetic rubber. (1) 

b) Which are the monomers of 
Nylon-6 and Nylon-66 ? (1 Y2) 

16. a) Chemotherapy is a term found 
in medical terminolog·y. What is 

3016 

chemotherapy ? (1) 

b) Synthetic detergents are 
classified into three categories. 

i) What are the three 
categories ? (1 %) 

ii) To which of the above 
categories of synthetic 
detergents, does the liquid 
dish washing detergents 
belong ? (%) 

14. a) CB'0t1l1<Smo ®ID<ID1CWJrfb@@_ n{j)cruffi> 
~ j «53 am> ml <S m o ®ID mJl CWJ ce:, dO 
o{J) rm 6 o <Z m o 6liO %) em db n.9:1 j «53 
CB'0m1 <Smo ~m5l M2,d:bCJU <lG)rmJo 
®moaDI (()1-sJl ffi1 c002, rm2,. 
i) gQ(QY(l)ffi(OTI5)1eJ2,~ ®(()o ®1(()1l00 

eTim am>Slffiillomo o{J)mD? (1) 
ii) o{J)<IU®o.91je.go <ZmotiYlD o.q;crucfO 

o.91je.J6mow am>ml<Zmo ®0m51MJ 
cfbUDr:E-6) 630<8ffi:J ~B8oD(()6ffio 
oll®o o{J)'f2,®6d:b. (1) 

b) DNA W60 RNA WJp ®OID1eJ2,~ 
nffiS>®able_go ffi61152, OJj®jJrru60Bc16 
o.q)'f2,®2,cfb. (1) 

15. a) 06l1Jffi <Sn.J:::>@eJ ®@rmCWJ~ OJci6 
cOO @6>mm5 S>.!2J ~OOJJITn <SnJ o§l 
moo 61T) cru1 mDR1 cfu' 06!}J co. 
i) cru1mDR1cfu' o611Jo1m 63ffiJ 

g[:l0nD(()6fr)o Ofj)'f2,®2,rfb. {%} 
i i) ffi2,cfb~a53 n.J06W(O) cru1\®Rlcfu' 

061}d01@~ m1ffio:moGm (()i®1 
o{J)'f2,®2,cfb. (1) 

b) 6)6)ffiCZeJ:J61i0-6 CZ~W2,o, @@ffiCZeJO 

61i0-66 <2C~CW2,o <2Q.\J<S6TDJS>QJ02, 
cfucfO O{HS>®~Oo ? (1 %) 

16. a) S>mru.Slcf}t)a53 (ruoczab®lcm <Son.'l:lm>lnm 
c£b J 61"0 6) <Jj s 6 (ffi 63 (l) 6 nJ G Q.l :) 6TDU 

cfui<BmoS>®O:::><;tj1. cfulczmoS>®Oo~ 
O{J)lffi8«53 n{fJ mD ? ( 1 } 

b) rru1mDR1cfu' ru5lRffi@6c@cm6>~ 
OlJCffi2, oJl<SJCJ)60J3g}Oco5l ®1<nlgJ1 
n5l drolc!, Cffi6. 
i) ~ Q.lJCffi6 OJ1<SO(f)60J3CJU 

o.ffi@®~Oo ? (1 %} 

i i) ffic!,cfu~mTl @cfu0S2,(010)1<01cOOJ()T) 

m5l mDR1 cfu' ru5l Rffi@6c@cfu~ 6>s 
oJl @:)Cf)60B§l @> ell d:b ~ cu) ru.5l n3:r 

ruon.'l:llocr.) ru51Rffi@6cV>JcfucfO nffi®6 
oJ1 @ 0 (f) W®l afO @ nJ S 6 em 6 ? 

(%) 


